
6 Bolte Lane, St. Clair, Missouri 63077 USA
(800) 325-6114 • Fax (866) 920-2005
www.atrobushing.com
©2016 ATRO ENGINEERED SYSTEMS, INC.

ATRO is not liable for any errors herein.  All manufacturers’ names and part numbers used are trademarked by the respective manufacturer.  These 
names and part numbers are being used without permission.  No endorsement, affiliation or recommendation is implied.  They are included for  

reference purposes only.  Some products shown here are covered byCanadian Patent 1,327,979; Australian Patent 630,358.

PA003-012816_MM46-62004_MM46-62660_MM46-62721_MM55-62002

DISTRIBUTED BY

ProductAnnouncement
Aftermarket Replacements Parts from ATRO®

ATRO® is an ISO 9001 Registered Manufacturer of Polyurethane Components for the Truck, Bus and Trailer Industry

MM46-62004 
Motor Mount Kit (Front)
Freightliner: 	
J21246-60; J21247-21
Cascadia & Cornado

Contains:
(1) MM46-62660 Mount
(1) MM46-62721 Mount
(2) 3/4” Bolts
(2) 3/4” Locknuts
(4) 3/4” Flat Washers

Qty Per Vehicle: 1

UPC Code: 751354037302

MM46-62660 
Motor Mount, Upper (Front)
Freightliner: 	
LOR J21246 60
Cascadia & Cornado

Dimensions:
Height: 1 3/8”
Width: 3 5/16”
Length: 7 5/16”
Bolt Hole: 3/4”
Bolt Holes: 4” c-c

Qty Per Vehicle: 1

UPC Code: 751354037296

MM46-62721 
Motor Mount, Lower (Front)
Freightliner: 	
LOR J21247 21
Cascadia & Cornado

Dimensions:
Height: 11/16”
Width: 3 1/8”
Length: 7 1/8”
Misc.: Bolt Hole: 3/4”
Bolt Holes: 4” c-c

Qty Per Vehicle: 1

UPC Code: 751354037289

Contains:
(1) MM55-624C3 Mount
(1) MM55-626C2 Mount
(1) Bolt M16-2.0x90mm
(1) Flat Washer, M16
(1) Flanged Locknut, M16-2.0

MM55-62002 
Motor Mount Kit (Front)
International: 	
1664724C1; 1664724C2; 1664724C3;  
1664726C2 Upper (snubber)
Model 3900

Qty Per Vehicle: 2

UPC Code:  
751354037883


